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Note : Attempt any four questions. All questions carry equal 
marks. 

1. 	(a) Fill in the blanks with a suitable word as 	8 
given in the brackets : 
(i) 	The sum of the deviations of the 

individual item from X is always 

(one/zero) 
(ii) 	 sampling method 

provides equal chance to every item 
of the population for being included 
in the sample. 
(Random/Non-Random) 

(iii) Inaccuracy due to arithmetical 
miscalculation is termed as 

(an error/ a mistake) 
(iv) The decimal part in the value of 

common logarithm is called 

(characteristic/ Mantissa) 
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(v) 	 method of data 
collections is suitable, where 
informants are illiterates. 

(Schedule/Questionnaire) 

(vi) Attribute refers to 	aspect 
of data. 

(quantitative/qualitative) 

(vii) A histogram helps in determining the 
value of 	• 

(median/mode) 

(viii) 	 is the reciprocal of the 
mean of reciprocals. 

(Mean/Harmonic Mean) 

(b) Distinguish between classification and 41/2 
tabulation. 

2. What is a statistical survey ? Describe the steps 121/2 
to be involved in organising a statistical survey. 

3. (a) Draw percentage sub-divided bar diagram 
	8 

for the following data : 

Results of B.com  No. of students 
2007-08 2008-09 

First Division 50 90 
Second Division 200 300 
Third Division 300 400 
Unsuccessful 150 200 
Total 700 990 

(b) State the disadvantage of secondary 41/2 
data. 
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4. 	Compute mode from the following data : 	121/2 
Daily 
wages (Rs). 

15-20 20-25 25-30 30-35 35-40 40-45 45-50 

No. of 
Workers 

12 23 19 14 5 4 3 

5. 	(a) Calculate combined standard deviation 
from the following data : 

8 

Particulars Firm 'A' Firm 'B' 
No. of workers 600 700 
Mean Wages (Rs.) 48 42 
Standard Deviation (Rs.) 9.49 10.95 

(b) Explain the law of Inertia of large numbers. 41/2  

6. 	(a) What do you mean by observation method 61/2 
of data collection ? State its two merits and 
two limitations. 

(b) Compute harmonic mean from the data 	6 given below : 

Commodity Pirce in kg. Quantity 
Per Rupee bought (kgs) 

A 2 10 
B 5 20 
C 10 30 

7. 	(a) The mean and standard deviation of a set 	8 
of 100 observations were 40 and 5 
respectively. But, by mistake, the value of 
one of the observations was taken as 50 
instead of 40. Find the correct mean and 
variance. 

(b) What do you mean by Primary data. Give 41/2 
an example of primary data. 
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3. (a) 	P-14-ik,i t5c-f 7:11:Wf ,41ter mr-Riddi -TTNAllf-Td 	8 

3TItU* (c0414 F-R=41-R-1 	I 

fa--arfW 

2007-08 

t..1-) 141 .k 1Tr771 4t,N1 

2008-09 

-51274 	rITft 50 90 

frd'17 Oft 200 300 

•qatzr kull-  300 400 

anTch-F 150 200 

700 990 q 41 

(b) ff1 3-TW 	f1.Wf3-4(41 -1-F77 I 41/2 

4. (5c-11#-A 	 41u111Ifq7 I 	121/2 

tfiT '4,1-  
15-20 20-25 25-30 30-35 35-40 40-45 45-50 

(k.) 

chir 1,1 
12 23 19 14 5 4 3 

49..4f 

5. (a) F-14-1 (gcr 1 Tilziwf 	 8 
4 1 U1.11 Wr-77 

td4TuT 	th-Ti 'A' Li, 13' 

*041 -1- 7Ujif 	600 	700 

Trrar -grql-t (T.) 	48 	42 

Hfrict) 11th 1 	9.49 	10.95 
(b) TO, 4i.sel1311 * ,Tist-cf 	fTzfri "c'T oe11ese41 41/2 

RI 
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6. 	(a) 	Tfl=f -k 44,1u1 	 fq-N 	ci-e4 -7--o1-4 61/2 
t? 7:rkt 	7A-1-17A- T7 -4a --1-f-A7 

(b)   3-*Tt 	-1=rr-Tr aril 7ru-r9-r 
--1fiA-7 

6 

-4:Fr -att Hill 

rm.-47. -5rru 	(fT-.7) 

--urz(r) 

A 2 10 
B 5 20 
C 10 30 

7. 	(a) 	100 -gf—d-q-e -ff217 	8 
4-11-1* Fc174(1-1TIR-T: 401-&01.  5 2TT 	I01'  

Ict)Tit-0 	-17:f 40 	01,3-1I1 50 
*F- RTT 4 Iq T I Tit -414-1-d7 1:11t71 -ff 2TT 344717 
(Variance) 7110 --Tr77 I 

(b) 	3112,1#1-  31j if 377 	cl-e4I -MT1-4t ?-51T2Tfl:IT 
dqlul 	q\TI I 

41/2 
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